Inequality
https://www.linkedin.com/groups/8313943/8313943-6412993229381267460
Let x,y,z > 1, prove that:

V2 -1) + \/()/2 —D+VNEE-1) < (xy + yz + zx)/2.
Generalize!
Solution by Arkady Alt , San Jose, California, USA.
We will prove that for any real x,x,,...,x, > 1,where n > 2, holds inequality

(1) ZZ=1 ,/x% -1 < %Z;;l)(fk)ﬂﬁ-l (here Xnel = xl).
Letay = Jx2—1,k=1,2,....,n.Thenx, = Ja? +1,k=1,2,...,nand (1)=
2) > a4 < %Z,’;l Jai+1 - Ja}, +1,where a; > 0,k = 1,2,...,n and

Apyl = A1.
Using Cauchy Inequality we obtain

T Y a1 a1 = S0, Jai 4T - Tl 2
%Zzzl(ak cl+1leap) = % 2o (ar+ae) =25, a.




